SHMEENZFHE

(NI 2 /)
SM3FE4A18 ~ ¥M44$38A31AH
# B FHED) |[MEEFE(E)| EH(D—E) ] =
I —#RIFBREA W D E
1 BEEROL
(1) BHEIREF
O EXMESIFS 1,020,000 803,000 217,000[2F 5M *9%.~2 + 125 ATCRE
@ RBEEEZIFE 220,000 260,000 A 40,000
Q@ ZWMEEH 2,154,000 2,330,000 A 176,000
a BEBhEARE 1,404,000 1,600,000] A 196,000| & 550 A H CRE
b BEEESE 300,000 250,000 50,000( S ERETHE
c ESEESE 230,000 240,000 A 10,000| S ERETHE
d #¥il£8% 220,000 240,000 A 20,000/ S EERBETHRE
@ ZHEESSMEE 500,000 500,000 o|FIEBYERERE
® ZMHEHE 600,000 600,000 ol TEEEEEEE
® EBEHRINE ]| 550,000] A 550,000| 175 & H 5 E B A 3Z
@ #HUnE 6 20 A4S EERECHE
EEIEEE(A) 4,494,006 5,043,020 A 549,014
Q)BREEH
O BxXE
a BERE 550,000 597,000 A 47000 HEBE.FIEHRE(FEREEER)
b HERMKBHE 240,000 245,000 A 5,000| & H#HEHIERBICEHR
c ERILERE 389,680 204,000 185,680| A& RN DERI, h—LR—CEHE
d CREEBIRTE 660,000 660,000 0| E3RBIT(EEEEEER)
e IREFHH 150,000 105,000 45000| FEREEZER
f EEHFARERE 48,000 48,000 NEEETES S
g BEE 650,000 643,000 7000 FEEEEEE
h B8 70,000 74,000 A 4,000 £EBY EHE
i EREGEERHH 2,400,000 2,400,000 0
i EEEHNE 423,000 423,000 Ol FERELXEE
k 3ZEE 550,000 680,000 A 130,000|4F EERiELEE
| ERREHBHE 0 550,000] A 550,000|H#EE iAo B R A 324
m HERE 80,000 95,000 A 15,000\ FFEREFER
n HHEF 20,000 20,000 0| 55 == 3R B
o HEER) 6,000 6,000 0
EEEH 6,236,680 6,750,000 A 513,320
Q@ EBE
a EBEMEE 2,009,600 1,925,500 84,100
=HEH 1,800,000 1,800,000 0
FBKEF 130,000 120,000 10,000/ fE EE EiFEE &
BERKFENNE 4,600 5,500 A 900| =R DIEERIE (2ERTEH)
BEEEHH 75,000 0 75,000 EE 2N E K (2FERBTER)
b BEERME 60,000 60,000 O|EERMICHSIEHS (GFERTER)
EEEXHE 2,069,600 1,985,500 84,100
OFEE 0 0 0
REERAEB) 8,306,280 8,735,500 A 429220
BB NSRRI NS EERE(A—B)| A 3812274] A 3692480 A 119,794
EXMEFMEEE 0 0 0
WEEEOEEE 0 0 0
LEPgEEEEE A 3812274 A 3692480 A 119,794
2 BENEROE 0 0 0
LA — A IECREBA EE IR BER A 3812274 A 3692480 A 119,794
—RIEKMENERS (HHIEFRR) 36,265,463 40,380,003| A 4,114,540
—BREKMEHRRES 32,453,189 36,687,523| A 4,234,334
IERMEARES 32,453,189 36,687,523] A 4,234,334




